Contents lists available at ScienceDirect

Discrete Mathematics

journal homepage: www.elsevier.com/locate/disc

Dixon's ${}_{3}F_{2}(1)$ -series and identities involving harmonic numbers and the Riemann zeta function

Xiaojing Chen, Wenchang Chu*

School of Mathematical Sciences, Dalian University of Technology, Dalian 116024, PR China

ARTICLE INFO

Article history: Received 31 March 2009 Received in revised form 29 July 2009 Accepted 29 July 2009 Available online 7 August 2009

Keywords: Bell polynomial Harmonic number Dixon's summation theorem

1. Introduction and Notation

ABSTRACT

Dixon's classical summation theorem on ${}_{3}F_{2}(1)$ -series is reformulated as an equation of formal power series in an appropriate variable *x*. Then by extracting the coefficients of x^{m} , we establish a general formula involving harmonic numbers and the Riemann zeta function. Several interesting identities are exemplified as consequences, including one of the hardest challenging identities conjectured by Weideman (2003).

© 2009 Elsevier B.V. All rights reserved.

Let \mathbb{N} and \mathbb{N}_0 stand respectively for the sets of natural numbers and nonnegative integers. Define the generalized harmonic numbers by

$$H_0^{\langle m \rangle} = 0$$
 and $H_n^{\langle m \rangle} = \sum_{k=1}^n \frac{1}{k^m}$ for $m, n \in \mathbb{N}$.

The case m = 1 reduces to the classical harmonic numbers: $H_n := H_n^{(1)}$.

One of the hardest challenging harmonic number identities is the following identity conjectured by Weideman [16, Eq 20]. For all $n \in \mathbb{N}$, it holds that

$$\sum_{k=0}^{n} (-1)^{k} {\binom{n}{k}}^{3} \left\{ 3(H_{k} - H_{n-k})^{2} + \left(H_{k}^{(2)} + H_{n-k}^{(2)} \right) \right\} = 0.$$
⁽¹⁾

It has been confirmed by Driver, Prodinger, Schneider and Weideman [12] through the computer algebra package *Sigma*. The partial fraction decomposition method has recently been utilized to prove this identity by Chu [5,7], where more identities involving binomial coefficients and harmonic numbers were found.

By expressing Dixon's classical formula as a formal power series identity in an appropriate variable *x* and then extracting the coefficients of x^m , we shall establish several finite and infinite series identities involving harmonic numbers and the Riemann zeta function. The main tools consist of the two expansion formulae of the Γ -function in terms of the exponential function as well as two expressions connecting binomial coefficients to Bell polynomials.

Throughout the paper, the shifted factorials are defined by

$$(x)_0 \equiv 1$$
 and $(x)_n = x(x+1)\cdots(x+n-1)$ for $n \in \mathbb{N}$



^{*} Corresponding address: Dipartimento di Matematica, Università del Salento, Lecce-Arnesano P.O. Box 193, 73100 Lecce, Italy. E-mail addresses: chenxiaojing 1982@yahoo.com.cn (X. Chen), chu.wenchang@unile.it (W. Chu).

⁰⁰¹²⁻³⁶⁵X/\$ – see front matter 0 2009 Elsevier B.V. All rights reserved. doi:10.1016/j.disc.2009.07.029

which are connected to the Γ -function

$$\Gamma(x) = \int_0^\infty \tau^{x-1} e^{-\tau} d\tau \quad \text{with } \Re(x) > 0$$

via the following two relations

$$\frac{\Gamma(x+n)}{\Gamma(x)} = (x)_n \quad \text{and} \quad \frac{\Gamma(x)}{\Gamma(x-n)} = (-1)^n (1-x)_n.$$
(2)

Then Dixon's theorem (cf. Bailey [1, Section 3.1]), which is well known in the theory of classical hypergeometric series, may be reproduced as

$${}_{3}F_{2}\begin{bmatrix}a, & b, & c\\ & 1+a-b, & 1+a-c \end{bmatrix} = \sum_{n=0}^{\infty} \frac{(a)_{n}(b)_{n}(c)_{n}}{n!(1+a-b)_{n}(1+a-c)_{n}}$$
$$= \Gamma \begin{bmatrix}1+\frac{a}{2}, & 1+a-b, & 1+a-c, & 1+\frac{a}{2}-b-c\\ & 1+a, & 1+\frac{a}{2}-b, & 1+\frac{a}{2}-c, & 1+a-b-c\end{bmatrix}$$

where $\Re(1 + \frac{a}{2} - b - c) > 0$ is assumed for convergence and the multivariate Γ -notation reads as

$$\Gamma\begin{bmatrix}a, b, \dots, c\\A, B, \dots, C\end{bmatrix} = \frac{\Gamma(a)\Gamma(b)\cdots\Gamma(c)}{\Gamma(A)\Gamma(B)\cdots\Gamma(C)}$$

Furthermore, we shall utilize the power series expansions of the Γ -function [4]

$$\Gamma(1-x) = \exp\left\{\sum_{k\geq 1} \frac{\sigma_k}{k} x^k\right\} \quad \text{and} \quad \Gamma\left(\frac{1}{2} - x\right) = \sqrt{\pi} \exp\left\{\sum_{k\geq 1} \frac{\tau_k}{k} x^k\right\}$$

where σ_k and τ_k are defined respectively by

$$\begin{aligned} \sigma_1 &= \gamma \quad \text{and} \quad \sigma_m &= \zeta(m) \quad \text{for } m \geq 2; \\ \tau_1 &= \gamma + 2 \ln 2 \quad \text{and} \quad \tau_m &= (2^m - 1)\zeta(m) \quad \text{for } m \geq 2; \end{aligned}$$

with γ being the Euler–Mascheroni constant defined by $\gamma = \lim_{n \to \infty} (H_n - \ln n)$ and $\zeta(x)$ the usual Riemann zeta function given by $\zeta(x) = \sum_{n=1}^{\infty} \frac{1}{n^x}$. For the sequence of indeterminates $y := \{y_k\}_{k \in \mathbb{N}}$, the Bell polynomials $\Omega_m(y)$ (or the cyclic indicators of symmetric

groups [10, Section 3.3]) are defined by the generating function

$$\sum_{m\geq 0} \Omega_m(y) x^m = \exp\left\{\sum_{k\geq 1} \frac{x^k}{k} y_k\right\}.$$
(3)

There is the following explicit expression

$$\Omega_m(y) := \Omega_m(y_1, y_2, \dots, y_m) = \sum_{\omega(m)} \prod_{k=1}^m \frac{y_k^{\ell_k}}{\ell_k! k^{\ell_k}}$$

$$\tag{4}$$

where the multiple sum runs over $\omega(m)$, the set of *m*-partitions represented by *m*-tuples of $(\ell_1, \ell_2, \ldots, \ell_m) \in \mathbb{N}_0^m$ subject to the condition $\sum_{k=1}^m k \ell_k = m$.

Let $[x^m]f(x)$ stand for the coefficient of x^m in a formal power series f(x). By means of the generating function method, it is not hard to show that these relations hold:

$$[x^m]\binom{n+\lambda x}{n} = \Omega_m(u), \qquad u_k := (-1)^{k-1} \lambda^k H_n^{\langle k \rangle}; \tag{5a}$$

$$[x^m]\binom{n-\lambda x}{n}^{-1} = \Omega_m(v), \qquad v_k := \lambda^k H_n^{\langle k \rangle}.$$
(5b)

In order to facilitate further applications, we display the first few Bell polynomials:

$$\Omega_0(y) \equiv 1, \tag{6a}$$

$$\Omega_1(\mathbf{y}) = \mathbf{y}_1,\tag{6b}$$

$$\Omega_2(\mathbf{y}) = \frac{1}{2}(y_1^2 + y_2),\tag{6c}$$

$$\Omega_3(y) = \frac{1}{6}(y_1^3 + 3y_1y_2 + 2y_3), \tag{6d}$$

$$\Omega_4(y) = \frac{1}{24}(y_1^4 + 6y_1^2y_2 + 8y_1y_3 + 3y_2^2 + 6y_4), \tag{6e}$$

$$\Omega_5(y) = \frac{1}{120}(y_1^5 + 10y_1^3y_2 + 20y_1^2y_3 + 15y_1y_2^2 + 30y_1y_4 + 20y_2y_3 + 24y_5).$$
(6f)

2. Reformulation of Dixon's classical identity

Introducing an indeterminate x and the parameters λ , θ , ϑ , ε , δ subject to condition $\lambda = \theta + \vartheta = \varepsilon + \delta$, we may equivalently consider Dixon's formula as the following formal power series equation

$${}_{3}F_{2}\begin{bmatrix} -\lambda x - n, -\theta x - n, -\varepsilon x - n \\ 1 - \vartheta x, 1 - \delta x \end{bmatrix} = \Gamma\begin{bmatrix} 1 - \vartheta x, 1 - \delta x \\ 1 - \lambda x - n, 1 - \lambda x + \theta x + \varepsilon x + n \end{bmatrix}$$
(7a)

$$\times \Gamma \left[\begin{array}{c} 1 - \frac{\lambda x + n}{2}, 1 - \frac{\lambda x - 3n}{2} + \theta x + \varepsilon x\\ 1 - \frac{\lambda x - n}{2} + \theta x, 1 - \frac{\lambda x - n}{2} + \varepsilon x \end{array} \right].$$
(7b)

Let k be the summation index for the last ${}_{3}F_{2}$ -series. Observing the two relations

$$(1-x)_k = {\binom{k-x}{k}}k!$$
 and $(-y-n)_k = (-1)^k {\binom{n+y}{k}}k!$

we may reformulate the general hypergeometric terms in (7a) as

$$\frac{(-1)^k \binom{\lambda x+n}{k} \binom{\theta x+n}{k} \binom{\varepsilon x+n}{k}}{\binom{k-\partial x}{k} \binom{k-\delta x}{k}}.$$

In view of (2), we can rewrite the Γ -function fraction in (7a) as

$$(-1)^{n} \frac{\binom{\lambda x+n-1}{n}}{\binom{\theta x+\varepsilon x-\lambda x+n}{n}} \Gamma \begin{bmatrix} 1-\vartheta x, & 1-\delta x\\ 1-\lambda x, & 1-\lambda x+\theta x+\varepsilon x \end{bmatrix}.$$
(8)

For n = 2m, the Γ -function fraction in (7b) can be restated as

$$\frac{(-1)^{m}\frac{(3m)!}{(m!)^{3}} \left(\frac{3m+\theta x+\varepsilon x-\frac{\lambda x}{2}}{3m}\right)}{\binom{m-1+\frac{\lambda x}{2}}{m} \binom{m+\theta x-\frac{\lambda x}{2}}{m} \Gamma \begin{bmatrix} 1-\frac{\lambda x}{2}, 1-\frac{\lambda x}{2}+\theta x+\varepsilon x\\ 1-\frac{\lambda x}{2}+\theta x, 1-\frac{\lambda x}{2}+\varepsilon x \end{bmatrix}.$$
(9)

When n = 2m + 1, we can similarly reformulate the Γ -function fraction in (7b) as

$$\frac{(-1)^{m}\left(\frac{1-\lambda x}{2}+\theta x+\varepsilon x\right)_{3m+2}}{\left(\frac{\lambda x+1}{2}\right)_{m}\left(\frac{1-\lambda x}{2}+\theta x\right)_{m+1}\left(\frac{1-\lambda x}{2}+\varepsilon x\right)_{m+1}}\Gamma\left[\frac{1-\lambda x}{2},\frac{1-\lambda x}{2}+\theta x+\varepsilon x\right]$$

which can further be expressed in terms of binomial coefficients as

$$\frac{(-1)^{m}}{\left(\frac{\lambda x+1}{2}\right)_{m}}\frac{\begin{pmatrix}4+6m-\lambda x+2\theta x+2\varepsilon x\\4+6m\end{pmatrix}\begin{pmatrix}1+m-\frac{\lambda x}{2}+\theta x\\1+m\end{pmatrix}\begin{pmatrix}1+m-\frac{\lambda x}{2}+\varepsilon x\\1+m\end{pmatrix}}{\begin{pmatrix}1+m-\frac{\lambda x}{2}+\theta x\\1+m\end{pmatrix}}$$
(10a)

$$\times \frac{(m!)^{2}(3+6m)!}{2^{1+2m}\{(1+2m)!\}^{2}(1+3m)!} \Gamma \left[\frac{1-\lambda x}{2}, \frac{1-\lambda x}{2} + \theta x + \varepsilon x}{\frac{1-\lambda x}{2} + \theta x, \frac{1-\lambda x}{2} + \varepsilon x} \right].$$
 (10b)

Dividing both sides of the equation (7a) and (7b) by $\binom{\lambda x+n}{n}\binom{\theta x+n}{n}\binom{\varepsilon x+n}{n}$ and keeping in mind the two relations

$$\frac{\binom{\lambda x+2m-1}{2m}}{\binom{\lambda x}{2}+m-1} = \frac{\binom{\lambda x+2m}{2m}}{\binom{\lambda x}{2}+m},\\\frac{\binom{\lambda x+2m}{1+2m}}{(\frac{\lambda x+1}{2})_m} = \frac{m!2^{2m}\lambda x}{(1+2m)!} \binom{\frac{\lambda x}{2}+m}{m}$$

we may finally express the resulting equation as follows

$$x^{3}W(x) + \sum_{k=0}^{n} (-1)^{k} {\binom{n}{k}}^{3} T_{k}(x) = \begin{cases} (-1)^{m} \frac{(3m)!}{(m!)^{3}} U(x), & n = 2m; \\ \frac{(-1)^{m+1}}{2} \frac{\lambda x(3+6m)!(m!)^{3}V(x)}{\{(1+2m)!\}^{3}(1+3m)!}, & n = 2m+1; \end{cases}$$
(11)

where $T_k(x)$, U(x), V(x) and W(x) are the formal power series explicitly given by

;

$$T_{k}(x) = \left\{ \binom{k - \vartheta x}{k} \binom{k - \delta x}{n - k} \binom{\lambda x + n - k}{n - k} \binom{\theta x + n - k}{n - k} \binom{\varepsilon x + n - k}{n - k} \right\}^{-1},$$
(12a)

$$U(x) = \Gamma \begin{bmatrix} 1 - \lambda x + \theta x, 1 - \lambda x + \varepsilon x \\ 1 - \lambda x, 1 - \lambda x + \theta x + \varepsilon x \end{bmatrix} \Gamma \begin{bmatrix} 1 - \frac{\lambda x}{2}, 1 - \frac{\lambda x}{2} + \theta x + \varepsilon x \\ 1 - \frac{\lambda x}{2} + \theta x, 1 - \frac{\lambda x}{2} + \varepsilon x \end{bmatrix}$$
(12b)

$$\begin{pmatrix} 3m + \theta x + \varepsilon x - \frac{\lambda x}{2} \\ 3m \end{pmatrix}_{(m+\varepsilon x - \frac{\lambda x}{2}) (\theta x + 2m) (\theta x + \varepsilon x - \lambda x + 2m)},$$
(12c)

$$\times \frac{1}{\binom{m+\frac{\lambda x}{2}}{m}\binom{m+\theta x-\frac{\lambda x}{2}}{m}\binom{m+\varepsilon x-\frac{\lambda x}{2}}{2m}\binom{\theta x+2m}{2m}\binom{\varepsilon x+2m}{2m}\binom{\theta x+\varepsilon x-\lambda x+2m}{2m}},$$

$$\begin{pmatrix} 4+6m-\lambda x+2\theta x+2\varepsilon x\\ 4+\varepsilon m\end{pmatrix}\binom{m+\lambda x}{2m}\binom{m-\lambda x}{2m}+\frac{\theta x}{2m}\binom{m-\lambda x}{2m}+\frac{\theta x}{2m}\binom{m-\lambda x}{2m}$$

$$V(x) = \frac{\binom{4+6m-\lambda X+2\theta X+2\varepsilon X}{4+6m}}{\binom{2+3m-\frac{\lambda X}{2}+\theta X+\varepsilon X}{2+3m}} \binom{m+\frac{\lambda X}{2}}{m} \binom{m-\frac{\lambda X}{2}+\theta X}{m} \binom{m-\frac{\lambda X}{2}+\varepsilon X}{m}$$
(12d)

$$\times \frac{\Gamma\left[\frac{1-\lambda x+\theta x,1-\lambda x+\varepsilon x}{1-\lambda x,1-\lambda x+\theta x+\varepsilon x}\right]\Gamma\left[\frac{\frac{1-\lambda x}{2},\frac{1-\lambda x}{2}+\theta x+\varepsilon x}{\frac{1-\lambda x}{2}+\theta x,\frac{1-\lambda x}{2}+\varepsilon x}\right]}{\left(\frac{1+2m+\lambda x}{1+2m}\right)\left(\frac{1+2m+\varepsilon x}{1+2m}\right)\left(\frac{1+2m-\lambda x+2\theta x}{1+2m}\right)\left(\frac{1+2m-\lambda x+2\varepsilon x}{1+2m}\right)\left(\frac{1+2m-\lambda x+\theta x+\varepsilon x}{1+2m}\right), (12e)$$

$$W(x) = \lambda\theta\varepsilon \frac{(-1)^{n+1}}{(n+1)^3}\sum_{k=0}^{\infty}\frac{(k!)^3}{(n+2)_k^3}\frac{\binom{k-\lambda x}{k}\binom{k-\theta x}{k}\binom{k-\varepsilon x}{k-1+\theta x}}{(n+k+1-\theta x)\binom{n+k+1-\delta x}{n+k+1}}.$$

$$(12f)$$

By means of (5a) and (5b), we can compute without difficulty the coefficients

$$[x^m]T_k(x) = \Omega_m(t_k) \quad \text{with } t_k^{(i)} = (\vartheta^i + \delta^i)H_k^{(i)} + (-1)^i(\lambda^i + \theta^i + \varepsilon^i)H_{n-k}^{(i)};$$

and

$$[x^{m}]W(x) = (-1)^{n+1} \lambda \theta \varepsilon \sum_{k=0}^{\infty} \frac{(k!)^{3}}{(n+1)_{k+1}^{3}} \Omega_{m}(w_{k})$$

where

$$w_k^{\langle i \rangle} = (\vartheta^i + \delta^i) H_{n+k+1}^{\langle i \rangle} - (\lambda^i + \theta^i + \varepsilon^i) H_k^{\langle i \rangle}.$$

Recalling the two expansion formulae of the Γ -function mentioned before, we have the following two further coefficients $[x^m]U(x) = \Omega_m(u)$

where

$$\begin{split} u^{(i)} &= \left\{ (\lambda - \theta)^{i} + (\lambda - \varepsilon)^{i} + \left(\frac{\lambda}{2}\right)^{i} + \left(\frac{\lambda}{2} - \theta - \varepsilon\right)^{i} \right\} \sigma_{i} - \left\{ \left(\frac{\lambda}{2} - \theta\right)^{i} + \left(\frac{\lambda}{2} - \varepsilon\right)^{i} + \lambda^{i} + (\lambda - \theta - \varepsilon)^{i} \right\} \sigma_{i} \\ &+ (-1)^{i} \left\{ \left(\frac{\lambda}{2}\right)^{i} + \left(\theta - \frac{\lambda}{2}\right)^{i} + \left(\varepsilon - \frac{\lambda}{2}\right)^{i} \right\} H_{m}^{(i)} + (-1)^{i} \left\{ \theta^{i} + \varepsilon^{i} + (\theta + \varepsilon - \lambda)^{i} \right\} H_{2m}^{(i)} - \left(\frac{\lambda}{2} - \theta - \varepsilon\right)^{i} H_{3m}^{(i)} \end{split}$$

and

$$[x^m]V(x) = \Omega_m(v)$$

where

$$\begin{split} v^{(i)} &= \left\{ (\lambda - \theta)^{i} + (\lambda - \varepsilon)^{i} - \lambda^{i} - (\lambda - \theta - \varepsilon)^{i} \right\} \sigma_{i} - \left\{ \left(\frac{\lambda}{2} - \theta \right)^{i} + \left(\frac{\lambda}{2} - \varepsilon \right)^{i} - \left(\frac{\lambda}{2} \right)^{i} - \left(\frac{\lambda}{2} - \theta - \varepsilon \right)^{i} \right\} \tau_{i} \\ &- (-1)^{i} \left\{ \left(\frac{\lambda}{2} \right)^{i} + \left(\theta - \frac{\lambda}{2} \right)^{i} + \left(\varepsilon - \frac{\lambda}{2} \right)^{i} \right\} H_{m}^{(i)} + (-1)^{i} \left\{ \lambda^{i} + \theta^{i} + \varepsilon^{i} + (2\theta - \lambda)^{i} + (2\varepsilon - \lambda)^{i} \right\} \\ &+ (\theta + \varepsilon - \lambda)^{i} \right\} H_{1+2m}^{(i)} + \left(\frac{\lambda}{2} - \theta - \varepsilon \right)^{i} H_{2+3m}^{(i)} - (\lambda - 2\theta - 2\varepsilon)^{i} H_{4+6m}^{(i)}. \end{split}$$

Equating the coefficients of x^m on both sides of (11), we establish the following formula.

Theorem 1 (Harmonic Number Identity). Let $\{t_k, w_k, u, v\}$ be the four sequences just defined above. Then for $m, \ell \in \mathbb{N}$, there holds the algebraic identity:

$$(-1)^{n+1}\lambda\theta\varepsilon\sum_{k=0}^{\infty}\frac{(k!)^3}{(n+1)_{k+1}^3}\Omega_{\ell-3}(w_k) + \sum_{k=0}^n(-1)^k\binom{n}{k}^3\Omega_{\ell}(t_k)$$
$$=\begin{cases} (-1)^m\frac{(3m)!}{(m!)^3}\Omega_{\ell}(u), & n=2m;\\ \frac{(-1)^{m+1}}{2}\frac{\lambda(3+6m)!(m!)^3}{\{(1+2m)!\}^3(1+3m)!}\Omega_{\ell-1}(v), & n=2m+1. \end{cases}$$

When one of the parameters λ , ε and θ equals zero, this theorem gives numerous finite sum formulae on harmonic numbers. Instead for $\lambda \varepsilon \theta \neq 0$, Theorem 1 will lead to several infinite series identities involving both harmonic numbers and the Riemann zeta function. For further identities of finite and infinite series of similar type, the reader can refer to [5–8,12–14] and [4,9,11,17], respectively. In addition, it is pointed out by an anonymous referee that the expansion of hypergeometric sum expressions, as carried out in this paper, has applications in particle physics (cf. Vermaseren [15]).

3. Examples: Harmonic number identities

As applications of Theorem 1, this section will display several interesting finite and infinite series identities involving harmonic numbers and the Riemann zeta function.

3.1. $\ell = 0$

In this case, we recover Dixon's classical identity on alternating sums of cubic binomial coefficients

$$\sum_{k=0}^{n} (-1)^{k} {\binom{n}{k}}^{3} = \begin{cases} (-1)^{m} \frac{(3m)!}{(m!)^{3}}, & n = 2m; \\ 0, & n = 2m + 1. \end{cases}$$

3.2.
$$\ell = 1$$

The corresponding identity displayed in Theorem 1 reads as

$$\sum_{k=0}^{n} (-1)^{k} {\binom{n}{k}}^{3} \{ (\vartheta + \delta)H_{k} - (\lambda + \theta + \varepsilon)H_{n-k} \}$$

$$= \begin{cases} (-1)^{m+1} \frac{(3m)!}{(m!)^{3}} \left(\theta + \varepsilon - \frac{\lambda}{2}\right) (H_{m} + 2H_{2m} - H_{3m}), & n = 2m; \\ \frac{(-1)^{m+1}\lambda}{2} \frac{(3 + 6m)!(m!)^{3}}{(1 + 3m)!\{(1 + 2m)!\}^{3}}, & n = 2m + 1. \end{cases}$$

Under the involution $k \rightarrow n - k$, this identity can be simplified as [12, Eq 2]

$$\sum_{k=0}^{n} (-1)^{k} {\binom{n}{k}}^{3} H_{k} = \begin{cases} \frac{(-1)^{m}}{2} \frac{(3m)!}{(m!)^{3}} (H_{m} + 2H_{2m} - H_{3m}), & n = 2m; \\ \frac{(-1)^{m+1}}{6} \frac{(3+6m)!(m!)^{3}}{\{(1+2m)!\}^{3}(1+3m)!}, & n = 2m+1. \end{cases}$$
(13)

3.3. $\ell = 2$

When n = 2m, we have the following general identity.

$$\sum_{k=0}^{n} (-1)^{k} {\binom{n}{k}}^{3} \left\{ (\vartheta^{2} + \delta^{2}) H_{k}^{(2)} + (\lambda^{2} + \theta^{2} + \varepsilon^{2}) H_{n-k}^{(2)} + \{(\vartheta + \delta) H_{k} - (\lambda + \theta + \varepsilon) H_{n-k}\}^{2} \right\}$$
(14a)
$$= (-1)^{m} \frac{(3m)!}{(m!)^{3}} \left[\left\{ \frac{\lambda^{2}}{4} + \left(\theta - \frac{\lambda}{2}\right)^{2} + \left(\varepsilon - \frac{\lambda}{2}\right)^{2} \right\} H_{m}^{(2)} + \left\{\theta^{2} + \varepsilon^{2} + (\theta + \varepsilon - \lambda)^{2} \right\} H_{2m}^{(2)} + \left\{\theta + \varepsilon - \frac{\lambda}{2}\right)^{2} (H_{m} + 2H_{2m} - H_{3m})^{2} - \left(\theta + \varepsilon - \frac{\lambda}{2}\right)^{2} H_{3m}^{(2)} \right].$$
(14b)

It is trivial to check that for $\lambda = 4$ and ε , $\theta = 1 \pm \sqrt{-3}$, the last identity becomes Weideman's (1). Furthermore, we can deduce, by specifying the parameters λ , ε and θ , the following harmonic number identities.

Example 1 ($\lambda = 0$ and ε , $\theta = \pm 1$: [12, Eq 3] and [14, Eq 1.12]).

$$\sum_{k=0}^{2m} (-1)^k {\binom{2m}{k}}^3 \{H_k^{(2)} + H_{2m-k}^{(2)}\} = (-1)^m \frac{(3m)!}{(m!)^3} \{H_m^{(2)} + H_{2m}^{(2)}\}.$$

Example 2 ($\lambda = 4$ and ε , $\theta = 1 \pm 3\sqrt{-1}$: [6, Example 8]).

$$\sum_{k=0}^{2m} (-1)^k {\binom{2m}{k}}^3 (H_k - H_{2m-k})^2 = \frac{(-1)^{m+1}}{3} \frac{(3m)!}{(m!)^3} \left\{ H_m^{\langle 2 \rangle} + H_{2m}^{\langle 2 \rangle} \right\}.$$

Example 3 ($\lambda = 0, \varepsilon = 1$ and $\theta = \sqrt{-1}$: [6, Example 6] and [12, Eq 23]).

$$\sum_{k=0}^{2m} (-1)^k {\binom{2m}{k}}^3 (H_k + H_{2m-k})^2 = (-1)^m \frac{(3m)!}{(m!)^3} \left\{ (H_m + 2H_{2m} - H_{3m})^2 + H_{2m}^{(2)} - H_{3m}^{(2)} \right\}.$$

According to linear combinations, the last two examples are equivalent to the following two identities (cf. [12, Eqs. 22 and 23] and [14, Eqs. 1.10 and 1.11]).

$$\sum_{k=0}^{2m} (-1)^k {\binom{2m}{k}}^3 H_k^2 = \frac{(-1)^m}{12} \frac{(3m)!}{(m!)^3} \left[3(H_m + 2H_{2m} - H_{3m})^2 - H_m^{(2)} + 2H_{2m}^{(2)} - 3H_{3m}^{(2)} \right],$$
(15a)

$$\sum_{k=0}^{2m} (-1)^k {\binom{2m}{k}}^3 H_k H_{2m-k} = \frac{(-1)^m}{12} \frac{(3m)!}{(m!)^3} \left[3(H_m + 2H_{2m} - H_{3m})^2 + H_m^{(2)} + 4H_{2m}^{(2)} - 3H_{3m}^{(2)} \right].$$
(15b)

Instead, for $\ell = 2$ and n = 1 + 2m, the corresponding identity reduces to

$$\begin{split} &\sum_{k=0}^{n} (-1)^{k} {\binom{n}{k}}^{3} \left\{ (\vartheta^{2} + \delta^{2}) H_{k}^{(2)} + (\lambda^{2} + \theta^{2} + \varepsilon^{2}) H_{n-k}^{(2)} + \{ (\vartheta + \delta) H_{k} - (\lambda + \theta + \varepsilon) H_{n-k} \}^{2} \right\} \\ &= (-1)^{m} \frac{\lambda (3 + 6m)! (m!)^{3} (\frac{\lambda}{2} - \theta - \varepsilon)}{\{ (1 + 2m)! \}^{3} (1 + 3m)!} \left\{ H_{m} - 4H_{1+2m} - H_{2+3m} + 2H_{4+6m} \right\}. \end{split}$$

Under the replacement $k \rightarrow n - k$, this identity simplifies to the following one.

Example 4 (Schneider [14, Section 3.3]).

$$\sum_{k=0}^{1+2m} (-1)^k {\binom{1+2m}{k}}^3 \{ 3H_k^2 + H_k^{(2)} \} = \frac{(-1)^m}{2} \frac{(3+6m)!(m!)^3}{\{(1+2m)!\}^3(1+3m)!} \{ H_m - 4H_{1+2m} - H_{2+3m} + 2H_{4+6m} \}.$$

However, when the factor $3H_k^2 + H_k^{(2)}$ is split into two terms, the corresponding sums do not have closed expressions. Schneider [14, Eq 1.15] has verified this fact by showing the following interesting identity

$$\sum_{k=0}^{1+2m} (-1)^k {\binom{1+2m}{k}}^3 H_k^{(2)} = \frac{(-1)^m}{12} \frac{(3+6m)!(m!)^3}{\{(1+2m)!\}^3(1+3m)!} \left\{ -2 + \sum_{i=1}^m \frac{(5+36i+72i^2)\{(2i)!\}^3\{(3i)!\}^2}{2i(1+2i)(1+6i)!(i!)^6} \right\}.$$

In order to reduce lengthy expressions, the following two abbreviated notations will be utilized in the rest of the paper:

 $\Phi_m := H_m + 2H_{2m} - H_{3m} \quad \text{and} \quad \Psi_m = H_m - 4H_{1+2m} - H_{2+3m} + 2H_{4+6m}.$

By specifying the parameters λ , ε and θ concretely in Theorem 1, we can derive the following seven harmonic number identities.

Example 5 ($\lambda = 4$ and ε , $\theta = 1 \pm \sqrt{-3}$).

$$\sum_{k=0}^{\infty} \frac{(k!)^3}{(1+2m)_{k+1}^3} + \sum_{k=0}^{2m} (-1)^k {\binom{2m}{k}}^3 H_k^{(3)} = \frac{(-1)^m}{2} \frac{(3m)!}{(m!)^3} \left\{ 2\zeta(3) - H_{2m}^{(3)} + H_m^{(3)} \right\}.$$

Example 6 ($\lambda = 4$ and ε , $\theta = 1 \pm \sqrt{-3}$).

$$\begin{split} &\sum_{k=0}^{\infty} \frac{2(k!)^3}{(2+2m)_{k+1}^3} + \sum_{k=0}^{1+2m} (-1)^k {\binom{1+2m}{k}}^3 \left\{ 9(H_k^3 + H_k H_k^{(2)}) - 9(H_k^{(2)} + 3H_k^2) H_{1+2m-k} + 2H_k^{(3)} \right\} \\ &= 2(-1)^{m+1} \frac{(3+6m)!(m!)^3}{\{(1+2m)!\}^3(1+3m)!} \zeta(2). \end{split}$$

Example 7 ($\lambda = 4$ and ε , $\theta = 1 \pm 3\sqrt{-1}$).

$$\sum_{k=0}^{\infty} \frac{5(k!)^3}{(2+2m)_{k+1}^3} + \sum_{k=0}^{1+2m} (-1)^k {\binom{1+2m}{k}}^3 \left\{9H_k^3 - 4H_k^{(3)} - 27H_k^2H_{1+2m-k}\right\}$$
$$= \frac{(-1)^{m+1}}{2} \frac{(3+6m)!(m!)^3}{\{(1+2m)!\}^3(1+3m)!} \left\{10\zeta(2) + 3H_m^{(2)} - 15H_{1+2m}^{(2)}\right\}.$$

Example 8 ($\lambda = 0, \varepsilon = 1$ and $\theta = \sqrt{-1}$).

$$\sum_{k=0}^{2m} (-1)^k {\binom{2m}{k}}^3 \left\{ H_k^3 - H_k^{(3)} + 3H_k H_{2m-k}^2 \right\} = \frac{(-1)^m}{2} \frac{(3m)!}{(m!)^3} \left\{ \Phi_m^3 - 3\Phi_m (H_{3m}^{(2)} - H_{2m}^{(2)}) - 2H_{3m}^{(3)} + H_{2m}^{(3)} - H_m^{(3)} \right\}.$$

Example 9 ($\lambda = 2$, $\varepsilon = 1 + \sqrt{-3}$ and $\theta = 0$).

$$\begin{split} &\sum_{k=0}^{2m} (-1)^k {\binom{2m}{k}}^3 \left\{ (3H_{2m-k} - 2H_k) H_k^2 + (H_{2m-k} - 2H_k) H_k^{(2)} \right\} \\ &= \frac{(-1)^m}{8} \frac{(3m)!}{(m!)^3} \left\{ \Phi_m^3 + \Phi_m (H_m^{(2)} + 4H_{2m}^{(2)} - 3H_{3m}^{(2)}) - 2H_{3m}^{(3)} + 2H_m^{(3)} \right\}. \end{split}$$

Example 10 ($\lambda = 2$, $\varepsilon = 1 + \sqrt{-3}$ and $\theta = 0$).

$$\begin{split} &\sum_{k=0}^{1+2m} (-1)^k \left(\frac{1+2m}{k}\right)^3 \left\{ H_k H_{1+2m-k}^{(2)} + 3H_k H_{1+2m-k}^2 \right\} \\ &= \frac{(-1)^m}{24} \frac{(3+6m)!(m!)^3}{\{(1+2m)!\}^3(1+3m)!} \left\{ 3\Psi_m^2 + 3H_{2+3m}^{(2)} + 8H_{1+2m}^{(2)} - H_m^{(2)} - 12H_{4+6m}^{(2)} \right\}. \end{split}$$

Example 11 ($\lambda = 2$, $\varepsilon = 1$ and $\theta = 0$).

$$\sum_{k=0}^{1+2m} (-1)^k \left(\frac{1+2m}{k}\right)^3 \left\{ 3H_k^3 + 5H_k H_k^{(2)} + 2H_k^{(3)} - (9H_k^2 + 5H_k^{(2)})H_{1+2m-k} \right\}$$
$$= \frac{(-1)^m}{3} \frac{(3+6m)!(m!)^3}{\{(1+2m)!\}^3(1+3m)!} \left\{ H_m^{(2)} - 5H_{1+2m}^{(2)} \right\}.$$

We remark that the last identity can also be obtained by combining Example 6 with Example 7 and canceling the parts containing ζ (2).

3.5. $\ell = 4$

For $\ell \ge 4$, the identities specialized from Theorem 1 are generally quite complicated. We limit ourselves to present only four summation formulae for exemplification.

Example 12 ($\lambda = 0$ and ε , $\theta = \pm 1$).

$$\sum_{k=0}^{2m} (-1)^k {\binom{2m}{k}}^3 \left\{ H_k^{(4)} + H_k^{(2)} H_k^{(2)} + H_k^{(2)} H_{2m-k}^{(2)} \right\} = \frac{(-1)^m}{2} \frac{(3m)!}{(m!)^3} \left\{ H_m^{(4)} + H_{2m}^{(4)} + \{H_m^{(2)} + H_{2m}^{(2)}\}^2 \right\}$$

Example 13 ($\lambda = 1$, $\varepsilon = 0$ and $\theta = -1$).

$$\begin{split} &\sum_{k=0}^{1+2m} (-1)^k {\binom{1+2m}{k}}^3 \left\{ 10H_k^{(4)} + 30H_k^2 H_k^{(2)} + 7H_k^{(2)} H_k^{(2)} + 24H_k H_k^{(3)} + 12H_k^2 H_{1+2m-k}^{(2)} + 9H_k^4 \right] \\ &= \frac{(-1)^m (3+6m)! (m!)^3}{4\{(1+2m)!\}^3 (1+3m)!} \left[3\Psi_m^3 + 6H_m^{(3)} - 64H_{1+2m}^{(3)} - 6H_{2+3m}^{(3)} + 48H_{4+6m}^{(3)} \right. \\ &\left. - \Psi_m \left\{ 11H_m^{(2)} - 64H_{1+2m}^{(2)} - 9H_{2+3m}^{(2)} + 36H_{4+6m}^{(2)} \right\} \right]. \end{split}$$

Example 14 ($\lambda = 4$ and ε , $\theta = 1 \pm \sqrt{-3}$).

$$\begin{split} &\sum_{k=0}^{\infty} \frac{(k!)^3 (H_k - H_{2+2m+k})}{(2+2m)_{k+1}^3} + \sum_{k=0}^{1+2m} (-1)^k {\binom{1+2m}{k}}^3 \left\{ H_k^{(4)} + (H_k - H_{1+2m-k}) H_k^{(3)} \right\} \\ &= \frac{(-1)^m}{6} \frac{(3+6m)! (m!)^3}{\{(1+2m)!\}^3 (1+3m)!} \left\{ 4\zeta \left(3\right) + H_m^{(3)} - 7 H_{1+2m}^{(3)} \right\}. \end{split}$$

Finally, by combining the two special cases of Theorem 1 specified with $\lambda = \pm 4$, ε , $\theta = 4 \pm (1 + \sqrt{-1})\sqrt{6 + 6\sqrt{-1}}$ and $2 \pm (1 + \sqrt{-1})\sqrt{6 + 12\sqrt{-1}}$, we find the following strange looking identity.

Example 15 (Harmonic Number Identity).

$$\begin{split} &\sum_{k=0}^{\infty} \frac{(k!)^3 \left\{ H_k + H_{1+2m+k} \right\}}{(1+2m)_{k+1}^3} + \sum_{k=0}^{2m} (-1)^k {\binom{2m}{k}}^3 \left\{ H_k^{\langle 4 \rangle} + (H_k + H_{2m-k}) H_k^{\langle 3 \rangle} \right\} \\ &= \frac{(-1)^m}{2} \frac{(3m)!}{(m!)^3} \left\{ 3\zeta(4) + 2 \varPhi_m \zeta(3) + H_m^{\langle 4 \rangle} - 2 H_{2m}^{\langle 4 \rangle} + \varPhi_m (H_m^{\langle 3 \rangle} - H_{2m}^{\langle 3 \rangle}) \right\}. \end{split}$$

When m = 0, it recovers the identity (cf. [2, Eq 4], [4, Eq 1.3], [9, B7a] and [11, Eq 7])

$$\sum_{n=1}^{\infty} \frac{H_n}{n^3} = \frac{5}{4}\zeta(4) = \frac{\pi^4}{72}.$$

Further infinite series identities of this type have been derived by Zheng [17]. Moreover, analogous multiple Euler sums are heavily used in physics [3,15], where highly non-trivial computations have been accomplished.

References

- [1] W.N. Bailey, Generalized Hypergeometric Series, Cambridge University Press, Cambridge, 1935.
- [2] D. Borwein, J.M. Borwein, On an intriguing integral and some series related to ζ (4), Proc. Amer. Math. Soc. 123 (4) (1995) 1191–1198.
- [3] D.J. Broadhurst, On the enumeration of irreducible k-fold Euler sums and their roles in knot theory and field theory. http://arxiv.org/abs/hep-th/9604128.
- [4] W. Chu, Hypergeometric series and the Riemann zeta function, Acta Arith. 82 (2) (1997) 103–118.
- 5] W. Chu, Harmonic number identities and Hermite-Padé approximations to the logarithm function, J. Approx. Theory 137 (2005) 42–56.
- [6] W. Chu, Hypergeometric approach to Weideman's conjecture, Arch. Math. 87 (2006) 400-406.
- [7] W. Chu, Partial-fraction decompositions and harmonic number identities, J. Combin. Math. Combin. Comput. 60 (2007) 139–153.
- [8] W. Chu, L. De Donno, Hypergeometric series and harmonic number identities, Adv. Appl. Math. 34 (2005) 123–137.
- [9] M.W. Coffey, On some logcosine integrals related to ζ (3), ζ (4) and ζ (5), J. Comput. Appl. Math. 159 (2003) 205–215.

- [10] L. Comtet, Advanced Combinatorics, Dordrecht-Holland, The Netherlands, 1974.
- [11] P.J. De Doelder, On some series containing $\psi(x) \psi(y)$ and $[\psi(x) \psi(y)]^2$ for certain values of x and y, J. Comput. Appl. Math. 37 (1991) 125–141. [12] K. Driver, H. Prodinger, C. Schneider, J. Weideman, Padé approximations to the logarithm III: Alternative methods and additional results, Ramanujan
- J. 12 (3) (2006) 299-314.
- [13] P. Paule, C. Schneider, Computer proofs of a new family of harmonic number identities, Adv. Appl. Math. 31 (2003) 359–378.
 [14] C. Schneider, Symbolic summation assists combinatorics, Sém. Lothar. Combin. 56 (2007) 1–36. Art#B56b.
- [15] J.A.M. Vermaseren, Harmonic sums, Mellin transforms and integrals, Int. J. Mod. Phys. A14 (1999) 2037–2076. http://arxiv.org/abs/hep-ph/9806280.
 [16] J.A.C. Weideman, Padé approximations to the logarithm 1: Derivation via differential equations, Quaest. Math. 28 (2005) 375–390.
- [17] D.Y. Zheng, Further summation formulae related to generalized harmonic numbers, J. Math. Anal. Appl. 335 (1) (2007) 692–706.